Kalkulus 1, 14 .hét

Hatadrozott integral alkalmazasai
Elmélet
Legyen a,b € R, a < b, I = [a,b] és f € C([a,b] ,RT).
LAz Ay ={(z,y) eR*|z €1, 0<y< f(z)} sikbeli alakzat
teriilete: Ty = /f(x) dz;

) fe1e @R as
f] ys(Af) = 2]‘1 f(.’L‘) Az

IL A yp={(z,y) € R} zecl, y= f(z)} gorbe
tvhossza: Ly :/\/1—|—f’ x)? dx;
sulypontja: x4(Ly) = /x\/l—&—f’ 2dx, ys(Ly) = /f W1+ f'(x)? da.

stlypontja: zs(Ay) =

IIL. Az Qy = {(w,y,z) ER} el \Vy2+22< f(;v)} forgastest
felszine: Fy = 27r/f(x)\/1 + f(x)? d=

I
térfogta: Vy = ’7T/f2(£l') dx

I

sulypontja: z4(Q) = —W/xf dz, ys(Qy) =0, z5(25) = 0.
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